o 12 | Subject Code : g %7 / Question Paper Series : A

e / subject : Life Science

gikaat § gt ®f WET /

Number of Pages in Booklet : 32 _
giaet 7 weAT @ T IH54E61

Number of Questions in Booklet : 75

(LSRN

WA T — Y / QUESTION PAPER - 3

AT | Roll No. (3ti % / In figures) :
(s/= & | In Words)

w99 / Time : 2% e / Hours ot / Maximum Marks : 150

INSTRUCTIONS :

1. Answer all questions.

2. Al guestions carry equal marks. _

3. Only one answer is fo be given for each question.

4. If more than cne answers are marked, it would be treated as wrong answer.
5

6

7

. Each question has four allernative responses marked serially as 1, 2, 3, 4. You have {o darken the
correct answer. '

. There will be no negative marking for wrong. answer.

. The candidate should ensure that Roll Number, Subject Code and Series Code on the Guestion Paper
Booklet and Answer Sheet must be same after opening the envelopes. In case théy are different, a
candidate must obtain another Question Paper of the same series. Candidate himself shall be responsibfe
for ensuring this. -

8. Mobile Phone of any other electronic gadget in the examination hall is strictly prohibited. A candidate
found with any of such_obiectionable material with him/her wil be striclly dealt as per rules.

9, The candidate will be allowed to carry the carbon print-out of OMR Response Sheet with them on
conclusion of the examination. '

10. If there is any sort of ambiguity/mistake efther of printing or factual nature then out of Hindi and English

. Version of the qguestion, the English Version will be treated as standard. :

Warning : If a candidate is found copying or if any unauthorised material is found in his/her possession, F.LR.
; would be lodged against himsher in the Police Station and he/she wauld liable to be prosecuted under Section
i 3 of the R.P.E. (Prevention of Unfairmeans} Act, 1992. Commission may also debar him/her permanently from
all future examinations of the Commission.

9T ¢

. 'l weE & uwe difg )

Tf U % ol e € |

WA Uyl FA9 TH & sut il

U § atfs oot & &t gy & WA & SO S @ R e |

W% U & T Javas sar R WA ¥, A gmar 1, 2, 8, 4 il R mar ¥ erendt wdY sut am

e @t I L |

oG I & U e e el fe g '

A9 YRl T TIR O & s A die aent ot vl ow giifiaa A 5 sud - gies

TF T U5 9T 9O 69§ s, fav B ol uv gRaer At @i eifso ¥ | g o B @

gw&m—w#ﬁmﬁ_mmuﬂ—wmmmmﬁ|ﬁ:a1=mé‘tr‘mt%:=ﬂarﬂmeﬁ

| i

, 8. ThAmw I s e O & Tl et ¥ s gl afda ¥l fed shadt % g 9l 2 aRfa

; - weh P ¥ @ Su Rreg o g0 P SErer i s | ,

: 9. oTREl AP WIN IGT UNE: WO DA Wi ST WM ¥ W §E § )

10. afx Redy w9 F Rt waere ot A wror o eareTs weRre A gfe w O 95T ¥ D an o e
¥ afiell wurat AR B .

Sl ¢ oI @Y arRelt e HA UHST W § A1 IWS TE ¥ B smivgd wenl o st ¥, o 3w onadt

¥ Rroz gfrg ¥ welehl oot @ o offik ent. 1. €. (argfa wimel @ e sfubre, 1992 % faw

3;—3;ﬂﬂmﬁaﬁ}aﬁaﬁmmﬁmﬁ@mﬁﬁqﬁmﬁﬁaﬁﬁa@ﬂaﬁmqﬁmﬁﬁﬁmﬁh

[T mmas S— .
P et Oy IHIHNIRENE (eoned-..

365/ LIFESCI_A

LTS

i
!
3
i
i

Mo




sesA szesA aesA aesA s6sA 385A a65AA

365 / LIFESCI_A] 2 o



e

365A 365A 365A 365A 36’5A 365A 365A

1

"A covalent bond develops when -

(1) Tons collide with each other.

(2) Electrons are transferred from one atom 10 another.
(3) Electrons are shared between two atoms.

(4) Neutrons of two atoms are attracted to each other.

o gEEden o fraRw @ ¥, S -

(1) R ed H T ¥

) R @ Th Ten e Ty ¥ e ¥
() @ wemeEl ¥ Wer geg @ aw aa ¥

@) @ WAk % gET T qEC W o St e ¥

The six most common atoms in organic molecules are -

(1) Carbon, hydrogen, oxygen, helium, calcium and sulphur

(2) Carbon, hydrogen, 'oxi;g_en, calcium, magnesium and sulphur

(3) Carbon, hydrogen, nitfogen,__' sulphur, phosphorus and magnesium
(4) Carbon, hydrogen, oxygen, nitrog_c_:n, phosphorus and sulphur
o auell ¥ waitm wwE B Teng A ¥

() @, RS, st S, HeE T w6t

(@) T, FEESH, SiGHIeH, hivRE, e T A

@) @, TEEe, TR, R, B 7 i

@) oA, TEEeE, s, e, BERRE I HEh

Sugars are characterized by having’ which of the following functional
groups ?

(1) Carbonyl and hydroxyl (2) Carbonyl and methyl

(3) Hydroxyl and amino (4) Sulfhydryl and phosphate
Sriifed ¥ ¥ 2N ¥ FEdwW o, vEwel & R A9 ¥ 7
(1) FEEEE 9 TRtEw () wEdEa 9 e

@) ewgfrw T oW (4) WemeRRW I HIEHE
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4 Cholesterol is a/an -

(1) Diglyceride (2) Steroid

(3) Saturated fat (4) Unsaturated fat
B Tl ¥ -

(1) swfaEass 2) ¥R

(3) IqS a9 (4) SEIE AW

5  The enormous diversity of protein iolecules is due mostly to the
diversity. of -

(1) Amino groups on the amino acids
(2) R-groups on the amino acids
(3) Amino acid sequence in the protein molecules

(4) Peptide bonds

dei oot @ o R e Y -
(1) AT ore UX Suie oniel W % @I

) o ol UX SIREE R-EE & HT
(3).9ﬁ'«ramaﬁﬁmﬂaﬁwﬁ=ﬁmﬁ‘f%m-%w
(4) YeEs oEel & B | -

6  Alfa helix and beta pleated sheet are the most common features of -
(1) Primary structure of proteins
(2) Secondary structure of proteins
(3) Tertiary structure of proteins

(4) Quaternary structure of proteins

wﬁﬁﬁﬁaﬁamﬁmma&waw%—
(1) TR A e S % |

) W @ ffme  wTETm B

@) T B ghEE § %

@) WA W ugH WO &

o
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10

Membrane is held together primarily by
(1) Hydrophobic attractions (2) Hydrophilic attractions
(3) Covalent bonds (4) Ionic bonds

wh el g ' ¥ §ET eEen ¥ W ¥ -
(1) <IEHE BV TR (2) <N TR g
(3) wedall e Ew 0 (4) omwrd onEHt @I

The special structures that carry materials across the cell membrane
are -—

(1) Proteins (2) Fatty acids

(3) Phosphates {4) Phospholipids

e g, s gl & S el ¥ omuR mad ¥, % ¥ -
(1) w9 () @ e

() Wik (4) WIS

Which of the following is an oxidative organelle and is not a part of the
endomembrane system ?

(1) Lysosome (2) Peroxisome

(3) Chloroplast B (4) Mitochondria

e o & 3N @ SRferd o 3, @w%ﬁﬁaﬁwmﬁ%?
(1) «EHEs _ (2) wWiFEEE

(3) whawa® . (4) IRy

Which of the following is not the correctly matched pair of structure with

functions ?

(1) Golgi complex : breakdown of complex molecules
(2) Mitochondrion : production of ATP

(3) Endoplasmic reticulum : synthesis of porteins

(4) = Chloroplast : photosynthesis

frefofem & @ B9 W W wom @ v & ey gafwa T8 ¥ ?
(1) el &/ wlew vl @ faue

(2) TSR : ATP & SdEd

3) SIS WifWHl : WEN "W

(4) whawam : YIS HIWW
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11 The tryptophan biosynthetic operon is an example of a :

(1) Positively controlled repressible operon
(2) Negatively controlled inducible operon
3) Positively controlled inducible operon

(4) Negatively controlled repressible operon

Rdwr ST dvaia R, e ¥ -
(1) weE FElE T Sitdm
@) Fonewm Frbe et «i|
@) s tfE dole @RE
@) woneew Frba omde Sie

12 Transposons can insert themselves into :
(1) Virtvally in any part of any DNA molecule
(2) Start and stop signals only

(3) Only DNA molecules where there are complementary base pairs with
unfilled active sites

(4) Plasmid molecules only

aieE @ & e & ' ¥ -

(1) «ge fed 9 DNA & fell St 9w

@ ¥aw vl () @ © (Fed) R @) |

3) yaw DNA opeii & wet Nad shha we ofe 9@ @) g B €
) Faw s aget ¥

13 InDNA replication, the RNA primers of Okazaki fragments on the lagging
strand are replaced by the enzyme :

(1) DNA polymerase I

(2) DNA polymerase III

(3) Primase

(4) DNA ligase

DNA wfegii &, qyerTl Ay W STRed Siee @eef % RNA WE
H <EWE B & -

(1) DNA @t — 1 T=EH a1

(2) DNA TR — I TSiEA 81

() VENS FeW AN

(4) DNA @IS TeEd g

(=2
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15

16
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Which of the following is not an example of 'Site-specific
recombination’ ?

(1) Restriction Endonuclease Site Dependent Recombination
(2) Tnsertion Sequence Dependent Recombination
(3) Long Terminal Repeat Dependent Recombination

(4) Homologous Region Dependent Recombination

) Frw gem enafa e
3) ﬁéwgﬁﬂaﬂqeﬂmﬁagﬂa’iﬁa
(4) T & eneia gt

In a DNA molecule, photo reactivation~repairs-; ;- .. -
Sl et T i S LS

(1) Pyrimidine nucleotides (2) Purine nucleotides

(3) Pyrimidine dimers (4) Purine dimers

DNA &sit & webwat yo-afpaor gevear ¥ -
O i Rl ) g R

(3) wmfr&asﬁvraw @ i sEud

If 2 cell is treated with a chemical that blocked nucleic acid synthesis,
which of the following processes would most likely be affected first 7

(1) DNA replication (2) tRNA synthesis
(3) mRNA synthesis (4) Protein synthesis

Llluﬁwaﬂﬁmﬁﬂﬁwﬁmﬁaﬁmm%ﬁﬁqﬁﬁmw

ﬁaﬁwﬁmaﬂém%eﬁﬁw%ﬁ@ﬁﬁ@rﬁ:r@rm%mm
THIRT BN B ol g e ¢ '

(1) DNA wirpfy (2) tRNA Hgagm
(3) mRNA deawm (4) WM dymor
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17 Consider the following statements
Transcriptional activators are proteins that :
(A) are synthesized only in response to specific signals.
(B) are produced constitutively.
(C) attach to enhancers.
Choose the correct answer from the codes given below :
(1) (A) and (B)

2) (B) and (C)
(3) (A) and (C)

@) (&), ®) and (C)
frAfifag sul a¥ fre B

e aheas TR ¥ B E - |
(A)%iﬂwmaww&tﬁmﬂﬁaﬁuﬁnﬁm%wq@m%l
®) W oRgs saT B E |

© w TEEd ¥ g ¥

3 R T A @ wEEE ¥ WY S @ W AR
1) (A T ®B) |

@ ® @ ©

@) (&) @ ©)

@ &), B w (©)

18 The sequences that appear in mature or processed RNA are :

(1) Introns (2) Transcription units
(3) Exons (4) Promoters

U @ Ui AROAU ¥ U B 9w 3g@EH §
(1) =N (2) FgvET Tl
(3) T 4) UF

365/ LIFESCLA] ; BN (oo



.’_-365A 865A 365A 365A 365A 365A 36_5A

19 Match the type of virus with its genetic material @

Virus Genetic material
(A) Adenovirus (i) ds DNA
(B) Parvovirus (i) ds RNA
(C) Reovirus ' (iii) Ss DNA
(D) Paramyxovirus (iv) Ss RNA
(A) (B) © D)
0 @ (ii) Giy - (@)
@ © (iii) (ii) (iv)
@) Gvy (i) Gi) Q)
4 () (iv) (1) (i)
P @ S ongERe wad ¥ few @it
LR AR =
(A) URaEE () dsATQ
(B) URAEEE (i) ds 9 WA Q
(C) FaEmE (i) Ss X T T
(D) TabEEEEE (iv) Ss R @ T
(A) B) ©) ®)
o o (i) (iii) (iv)
2 O (i) (ii) (iv)
3) ) (iii) (ii) @
@) (i) () @) (i)

20 How many sub units form G-proteins ?

() 2 @ 3
@) 5 @ 6
N-NEw feadl STseRaE § SN T 7
2 | @ 3
@) 5 @ 6
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22

What is true about cadherins ?

(1) These recognize and bind to molecules of the same type.
(2) These bind cells to extracellular matrix.

(3) These bind axon to muscle cell.

(4) These are calcium independent molecules.

FMm F G Ao ¥ ?

) ﬁwm%mﬂaﬁﬁwm%@wwmh
() 3 fert o RwieE aeEl ¥ O w5 @ ¥

(3) ¥ wwEm w1 U @i @ dem o  E)

(4) ¥ Ffewww @aw A i

Match the antibodies / immunoglobulins molecules with the type of' heavy
chains in their protein :

Antlbody Type of Heavy chain
(A) g A (i) alpha
(B) Ig D (i) beta
(C) I, E (iii) gamma
(D} . I, G (iv) delta

(v) epsilon
A B) (© (D)
@ o (iv) (i) )

@ O (i) (iii) (iv)
Gy @) (iii) (iv) v)
@ O (iv) W) (iii)
- wied [ wierardigReT oo @ S Ui W v ww gEe % uER
ARG A [
RIREG WA FEW F THH
A LA (i) qEm
®) I, D (i) e
© LE (i) Tow
®) I, G (iv) e
(v) QA

(A) 3B) (©) D)
1 (iv) (i) (i)
2 O (ii) (iii) (iv)
(3 (i) (ii1) (iv) v)
@4 O (iv) ) (iif)
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23  Match the type of vaccines with the diseases against which these are used :

Type of vaccines

(1)

(i)
(iii)
(iv)

®)
(i)

- (W)

(iv)
)

Deseases

Polio, Cholera, Rabies
Measels, Mumps, Typhoid
Tetanus, Diptheria

Hepatitis B

NAwl & YR qu AT, e freg s sqgi e smar ¥, @ B

(A) Dead organisms as vaccine
(B) Living organisms as vaccine
(C) Bacterial toxins as vaccine
(D) Genetically engineered virus

as vaccine

(A) ®B) ()
IR/ ) G
@ G i) @
Gy O (ii) (iii)
@ Gv) - (i) (ii)
BINT -

i ¥ W
(8) 7@ Wl & A 0}
(B) ~ifaw il & %

©

ey - & &%

A
oifera, wew, Y

(i) HisTew, =P, mqﬁ'z's
(i) @, BEfen

ety sifaites fawrg (v) 2WeRRE B

)

& Ak

(A) ®B) ©)
Qv ® (iii)
2 @) - Gi) @)
Gy (i) (iii)
@ () (iii) (i)
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24 Transformation of proto-oncogenes to oncogenes is the result of -

(1) Regulation of cellular differentiation by tumor suppressor genes (TSG)
(2) Supression of proliferation by tumor suppressor genes (TSG)

(3) Over expression of gene or amplification to produce increased
onco proteins

(4) Counter balancing by TSG
me@**@%ﬁwwm%_'
(l)a‘éﬁ'wﬁ“(ﬁ@ﬁﬁ)mmﬁuﬁﬁmmﬁm

2) o e oN (AuEe) T TgdenE w1

(3) W T Giﬁfaﬁqauﬁﬁlaqwgagqm e W Y s
@) o ww SRRge

25  Which is the correct sequence of the process of developmental commitment
in animal cells ?
(1) Naive — Determination — Diﬁ"erehtiation —» Specification
(2) Naive — Differentiation — Determination — Specification
(3) Naive — Determination — Specification — Differentiation
(4) Naive — Specification — Determination —» Differentiation
A Byl ¥ wRaa sheE v W w8 e B W Y 7
(1) @ — Pt - fefeo - RiidReso
'(2) T — [AAEHET - fratteo — R
@) @ — P - fafleam - fadfe
@) @ - FhlRiemw - FaRewo - frRertm

26 Backwith - Weidermann Syndrome (BWS) is associated with -

(1) Parental imprinting (2) Transgenes
(3) Mutants (4) Differentiation
et - areEe Rigm @ soq W) watda ¥ -
() ¥ awET d @) wrEdrg A
(@) wiEd ¥ 4) FriRme ¥
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28

29

30

Initial binding between sperm and mammalian’ egg is mediated by' which
of the following proteins ?

(1) Zona pellucida protein 3 (ZP3)

(2) Zona pellucida protein 2 (ZP2)

(3) Zona pellucida protein 1 (ZP1)

(4) Bindin .
m@wﬁm%mm&ﬁmaﬁwﬁwﬁiﬁwﬁ%
®F ¥ WA B OB ¥ 7

1) i dgfeEr @@ 3 (@=h 3)

(2) = it R 2 (Se® 2)

3 v Ygfe R 1 @ 1)

4) e |

The vulva of Cacnorhabditis elegans is derived from which set of the vulval
precursor cells (VPCs) ?

(1) p3 ptpe @ P°,pP8 P
3) P pipd “ p3p, Pt

SeiTeER ohilg @ w1 T-gEad siwel % e e § o
g ¥ 7 |

) p?ptpe @ p5 PSP’
3 p3pip° @ p3p", Pt

Programmed cell death under .genetic control is called -

(1) Apoptosis (2) Necrosis

- (3) Phagocytosis (4) Autophagy
Tt Pren ¥ GFeeE SR I weAn & -
(1) wavafeE () Sasad
(3) waBmRH @)

Gravity sensors in the root cap that direct root growth downward into
the soil are :

(1) Chromoplasts (2) Amyloplasts

(3) Etioplasts (4) Chloroplasts

@ MY & o d9P, ﬁwqﬁgaﬁﬂmﬁﬁ%ﬁeﬁwﬁ%ﬁmmﬁ%z
(1) auidEs (2) WEAIH

() gharwe @) whawras
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31

32

A source of protons for the proton gradient within a chloroplast is —
(1) Phospholipids within the thylakoid membranes

(2) Water

(3) CH,0O

(4) Chlorophyll
@zﬁa@ﬁ%ﬁmﬁﬁﬂm%@ﬁﬁm@a@m%—

(1) eetas el | e BIEnTAYS

(2) = |

3) CH,0

(4) TERT

Consider the following statements :

(A) In photorespiration oxygen occupies the allosteric site of RUBISCO.

- (B) Photorespiration- is also known as C, cycle.

(C) No ATP is produced during photorespiration.

(D) Photorespiration occurs both in C; and C, plants.

Which of the above. statements. are true ?

(1) (A) and (D) both

(2) (B) and (C) both

3) (), (C) and (D)

#) (A), (B) and (C)

freiufgg wudt w R B

(A) TEg-gEET o st RUBISCO % URi@lith Wd & syt
HE ¥ _

(B) Way—99&T C, Wh o HEean &l

(C) wag-eaE & e ATP H SR T8 S ¥

(D) vaE-s=ET C; @ C4a=ﬁ_wr(%maﬁff€im%l

ST we ¥ ¥ B o v ¥

(1) W a @) I

@ ® 0. A

3 ®, 03D

@ ), ® 3O

e I 1Cone-
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33 The function of coenzyme - A is to —

34

35

(1) Isomerize pyruvic acid

@) Isomerize NAD*

(3) Activate the acetyl group

(4) Facilitate oxidative phosphoryiation
YEUSTgH-A &1 R B@T &

(1) UEsla® orFd B GHAR B

(2) NAD' @ wwer ®T

@) wdemw wE @ femfw o0

() R wREER ¥ W BT

Plants that have mutualistic relations with nitrogen fixing bacteria, receive
from the bactenia -

(1) Ammonia : (2) Amino acids

3) Nitraté ) 'Nitﬁte

T UEy W TRoem feldeRe AavEl F 9" Ssiel a9
oy ¥, 9 olawet ¥ W e ¥ -

(1) smtm (2) omiF eFd

@) e (4) -EEEE

When a plant is not reproducing, most of its cytokinins are produced
in its : ' '

(1) Leaves (2) Lateral buds
(3) Shoot apex (4) Roots

9 UH UEg ¥ 9T T & T o ¥, o4 €9 39 URY § WEdi
SRepigE: SO~ B &, UGB/ —

(1) it A (2) wed it 7
() wlE oY ¥ @ & d
. 365/ LIFESCI_A]. 15
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36

The immunological function of the body is controlled by -

(1) Albumins = (2) Alpha globulins
(3) Beta globulins (4) Gamma globulins
ol ¥ wRREh e @ Prifa e s ¥ -

(1) weEhE (2) U TG

g

38

3) e gk @) T TR

' Metabolic rate in animals increases mainly by giving injection of -

(1) Testosterone (2) Thyroxine

(3) Insulin (4) Estrogen

TR # ST e § gie @ W ¥, R sed wemw fem -
Q) TR @ @) gEiEET

(3) TEAM W 4) TS @

Enzyme Pepsin acts upon food at a pH of about -
(1) 1.5-3.0 to spﬁt proteins

(2) 4.0-5.0 to split amino acids

(3) 6.0-7.0 to change proteins into pepiones

(4) 3.0-5.0 to change proteins into amino acids

fpvas T se 9¥ Ben &A@ ¥, @ pH -

(1) 1530 X W& & Frafea & & fow

(2) 4.0-5.owmmﬁﬁ@ﬁeﬂmﬁ%ml

(3) 6.0-7.0wﬁaﬂﬁ&®ﬂﬁqﬁaﬁiﬁmﬁ%ﬁﬁm
(4).3.0-5.0wﬁﬁaqaﬁaﬁm’fmﬁﬁuﬁaﬁhaﬂ%%5%m

565/ LIFESCLA 1 NI (Cone-
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39 Which is the fastest conduction system in heart of mammals ?

(1) Purkinje fibres (2) Sinuatrial node
(3) Myocardial fibre (4) Vagus nerve
Wi % weu ¥ Y AW e oF &9 W ¥ 7
(1) s g @) Rr-enfiz s

@) weSa Wy @ e dhw

40 Which is the correct sequence of meninges from inner to outer side
of brain ?

(1) Arachnoid, Duramater, Piamater
(2) Piamater, Arachnoid, Duramater
(3) Arachnoid, Piamater, Duramater

(4) Piamater, Duramater, Arachnoid
faqses § TROHERS H T ¥ IRT B G W W FT ¥ 7
(1) eI, geat, A
(2) TgarTE, a@\-ﬂm AT 1
(3) TS, G, FEdi |
(4) TEATHI, e, ST

41 Reabsorption from thick segment of ascending limb of Hanle's loop is

by -

(1) Facilitated diffusion (2) Active transport

(3) Simple diffusion (4) Osmosis

I B owO W A ew & W s g gsfaut qar ¥ -
(1) g fme @ @) dhea st B

(¢) W RERe Ew @) wOEE AR
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42

43

44

Which set of hormones are released duriﬁg stress ?

(1) Adrenalin, Cortisol, Norepinephrine

(2) Thyroid Stimulating Hormone, Ant Diuretic Hormone
(3) Leutinizing Hormone, Follicle Stimulating Hormone

(4) Adenocortiotropic Hormone, Growth Hormone

ﬁﬁ%wﬁmwﬁﬁwwﬁ%ﬁ@m%?
(1) R, wRidw, AReReReT |

@) ariEe fepfe @ad, wdeRgien T

(3) frgfemsfm i, witwen Reagfen S

(@) oRAmERARe B, I wE

Leutinizing Hormone (LH) and Follicular Stimulating (FSH) Hormohe are
collectively called -

(1) Antisiress hormone (2) Emergency hormone

(3) Gonadotropic hormone (4) Neurohormones

wfERiT g (TRaE.) @W@nﬁrﬁmzﬁq(@@@)
whafd w1 4 HEAQ & -

(1) OIS T (2) STUEEE A
(3) Wl T (4) =EEE

A test cross distinguishes between :

(1) Two homozygous forms

(2) A homozygous dominant and the heterozygous form
(3) Two heterozygous forms

(4) A homozygous recessive and a heterozygous form

s whaw e R s ¥ -

(1) & gugeet wOl % T
(Z)Qﬁmwmqﬁwﬁwwﬁw%nw
3) @ Rromgent w0 % A
(4)@@@@1?*1@@@%@@[@&%51@
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45 The genotypic expression seen in a person of blood group AB is

46

called

(1) Dominant - recessive

(2) Codominance

(3) Tncomplete dominance

(4) Epistasis

AB W WF I w ¥ R o dred stvefa weew @ o
(1) WHEI — AUHEN

(2) wEwHIRET

@) ool

(4) vawd

Pleiotropy occurs when a gene has :

{1) A complementary gene elsewhere

(2) A small effect on one trait

3) Reversiblé effects on the phenotype depending on age
(4) Many effects on the phenotype |

< T S ¥, S T W e A §

(1) o, T I S

(2) U Fdwew W AR AW

(3) 9 W uid @& WEY X SeRiE WHIE

(4) wEmET INE YT
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47 During recombination mapping with unordered tetrads, the formula
used to estimate the amount of recombination between the markers
(i.e. Recombination frequency) 1S

NPD+ 1TT
(1) 2
Total numberof tetrads
1
TT+=NPD
) 2
Total number of tetrads
1
NPD+=-TT
() 2
Double the numberof tetrads
1
TT+=NPD
“) 2

Double the numberof tetrads

[Where NPD = Non Parental ditypes

TT = Tetratypes]
aﬁhﬁagw%mugﬂﬂﬂf%m%é‘rmﬁfa@ﬁ%ﬁmgmﬂm
ﬁwmm(yﬁmﬂaﬁﬁnaﬂﬁ%@uﬂw;ﬁ%:

NPD+%TT
1
) agET B P dET
1
TT+=NPD
@) 2.
TgE @ P qedl
1
NPD+=TT
3 - 2
ageEy & o W & T
1
TT+= NPD
@ 2
agwﬁrﬁ'aﬁwaw?ﬁa}gm
[wet NPD = et favrem

TT = agored]
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(1) Nuclear DNA 2) Chloroplast DNA
(3) Mitochondriaj DNA (4) Al of the above

6 4 Wiy W FrofRa @ &
() *=hw g A ) e SReC oAl T
3) At é’r.q#r.q. S0 4y Iiww @y

49 Which of the following processes of the bacterial DNA transfer are generally

(1) Transformatiog and conjugation
(2)  Conjugation and transduction

(3}  Transformatiop and transduction

50  Downs: syndrome is ap €Xample of :

(1) Ancuploidy (2)  Ployteny
() Polyploidy (4)  Monoploidy
RIER IR I [ g en— ¥

M) g @ gre @
3)  wgylrar @) gl @
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51 Level of organisation of Cnidaria have remained at -

(1) Cellular (2) Organ
(3) Tissue (4) Organ system
R F gueT @& ' ¥ -

(1) @i @) oFfE

() @™ (@) o

52 The classification of - _
(A) An amphibian is based on their habitat.
(B) Reptiles is based on the nature of their skull.
(C) Birds is based on nature of their bones.
(D) Mammals is based on their mode of reproduction.
Which group of statements is correct ?
1 »
@ &), ©
G) O
@ @), D
ERIET

(A) PR & % FEE | e
B) wiad H s TR B THER W ewuiE ¥
(C) uferli &1 wwer sferdl & wpfa wx smnfa ¥
©) whE &1 o s B W enea ¥
P @ W WA 7 |

OGN |

@ (@A), ©)

3 O

@ (®), ©
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53 Microorganism which causes food poisoning in human beings is -

(1) Microsporum (2) Closiridium tetani
(3) Clostridium botulinum (4) Paramyxovirus
gl # WS U e ey a9l geEeid & -
() wEwRE () FRzRE REE

(3) FwIReRay Fifrw @) ST

54 Phylum arthopoda is characterized by -
(1) Jointed appendages, exoskeleton
(Z) 3 pairs of jointed appendages, external segmentation
(3) Exoskelecton, one pair of antennae

(4) External segmentation, one pair of chelicerae
T oTeigeT % wee ¥ -

(1) EER U, IEhe™

) A= i SRR Sum, SEEaEdE

(3) wEmbeW, UF WSl R

(4) e, TH SISy

55 Graylag geese, Pintail, Shovellers, Common Pochard and Starlings seen
in Keoladeo National Park at Bharatpur, Rajasthan are -

(1) Permanent resident (2) Summer migranis

(3) Winter migrants (4) Transient migrants

T, T ges, faem, mm@ﬁﬁmﬁmvﬁm%ﬂ%mﬁ
I, Y, TeRe ¥ @ oww ¥/ ¥

(1) ) T (2) e v
(3) T | 4) wg wary
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56 ~ Which of the following interactions does NOT promote coevolution ?

(1)  Interspecific competition (2) Commensalism

(3) Mutualism 4) Parasitism

57 The niche of a population is the —
(1) Set of conditions and resources it uses
(2) Place where it livés
(3) ~Geographic area it covers
)] Set. of interactions it has with other populations
ol &1 T @ 3 -
(l)qﬁﬁaﬁlﬁaﬁmm‘f%w,ﬁﬁwﬁamw@%%l
(2) T Sl e @ Praw dar ¥
(3) vl &, ol wRe B Ad &
4) mﬁﬂ?u%maﬁwrwa’rw&zmwﬁzﬁ%mawﬁ%l

58  Exponential growth of a population occurs when there is
(1}  Asexual reproduction only |
(2) Sexual reproduction only
(3) No inhibition from crowding
(4) A fixed carrying capacity
% TR H wREmiEy g e ¥ ww -
(1) a0 orff w9 dar &
(2) waw A W dar &
() U ¥ TRW T g ¥
4 U P e wwar o
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59

60

61

Most of the interacting populations are :

(1) Mutualistic (2) Symbiotic
(3) Coevolved (4) Parasitic
aifyeter e wmftedt Bt 3 -

(1) wEuE (2) wESEL

(3) WEEAmaa (4) wxetEr

Primary succession takes much longer than secondary succession,
because it involves :

(1) Development of the soil

(2) Development of a seed bank

(3} Colonization by organisms that are farther away

4 Colonization by more K-selected organisms

e ergmne, Tedas srgwa @ o, ot W W T ¥, i
e aftw e ¥ -

(1) T & frew

) -5 w faww

(3) TRY TSl ERT SYREIE
@) ofm K-=ab@ el gl SufEee

Differential reproduction in Natural selection is achieved by

(A) Increased adaptability to environment

(B) Better chances of sexual selection

(C) Lesser chances of sexual selection

(D) Developing positive selection pressure due to useful genetic variability-
(1) &), ©, D) 2 ®), (), D)

(3) (4), B), (D) @ (), B), ©

WG a1 ¥ Eed W B i B ¥ -

(1) uwafae % wia ot g erggeTa

@) & W & A FEEd W

@) f wuT ¥ BT oEEd ¥
(4)wfﬁaﬂaﬁmﬁﬁﬁm%wwmwm%ﬁmﬁﬁ
1) A, O, O . 2) ®), ), D)

(G) (A), B), (D) @ (A), B), O
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62

63

The most recent, or nearest and direct prehistoric ancestor of present human
being (Homo sapiens) was possibly -

(1) Neanderthal (2) Java ape man

(3) Cro-Magnon (4) Peking

anytrs W (FE W) @ §ER ofie SUEl THNE U ue
yriidetae gue @Wed: a1t -

(1) TE=Ew (2) wmEr — UU ¥

(3) W= (4) T

Hardy Wienberg law states that -

(1) Allele and genotype frequencies in a population remain unaltered from
one generation to next, if factors like mutation, selection and
migration do not operate.

(2) Gene mutation, changes in chromosomol structure and number and
genetic recombination provide for genetic variability and natural
selection and reproductive isolation give direction to evolutionary
process.

(3) 'Speciation genes', by causing hybrid sterility, hybrid invariability or
- behavioural aberration, cause speciation.

(4) Natural selection operates only upon gene - borne varations which
are heritable and act as basis for evolution.

TSl Frmeat Praw @ wEe ¥ -

(1) wwﬁzﬁg}ﬂﬁﬁtﬁamﬁhﬂqu&rwﬂi@r@r@'&%
H siafia wdl ¥ aft safEds, a0 qan yaom S eRe fhaeie
& B |

(2) W SAEdE, PO ST Ud W § qiec qan sl g,
ﬁrﬁwﬂaﬁiﬂaﬁﬁ%ﬁmmm@aﬁwqwmﬁiﬁm
wfwar & R <@ ¥4

(3) ‘aimgy™ S €T Tggedl, wwawmmrﬂas%mw
¥ EIU WG IEHET S hidl &

@) wgliE TR0 FHaw S uREkiam W em saa & W 6 dere
Bl § Ud SqReM @1 SR ¥
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64 What is true about dominant Indian Langoor ?

(1) Remains active in small fights.

(2) Has priority in establishing relationship with females.
(3) Fights for obtaining food.

(4) Fights for obtaining suitable place.

WW%W@W%WWW%?
(l)ﬁm—wffmmﬁm%l

) aﬁm—mﬁamwmﬁm@mmaﬁr%.
(3) ey T T & g wE ¥
(ﬂmﬂﬁmmwﬁ%ﬁmm%u

65 Analogous structures are a result of -

" (1) [Parralel evblution (2) Convergent evolution
(3) Co-evolution (4) Adaptive radiation
argEn g W ¥ - |
(1) IR SEEwE W @) afrge g™ B
(3) TESTAHE @) wgge fafeor &

66 Antisense RNAs block gene expression by -

(1) Annealing to mRNA molecules of a gene
(2) Degrading the enzymes involved in translation
(3) Breaking down RNA molecules
(4) Blocking the transfer of mRNA
rd e, S oREtR B R e aews B ¥ ?
(1) W FH THARTALG aopell ¥ AT B

(@) ;lmﬁsﬁﬁaﬁqﬁvﬁﬁsuaﬁ%ﬁwﬁmwm
(3) SR, Sl ¥ frgvesa @@

| (4)' TR UAE H W F FaEET '
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67 The discipline that applies recombinant DNA, DNA sequencing methods
and bioinformatics to sequence, assemble and analyze the function and
structure of genomes is called - '

(1) Gene therapy (2) Genomics
(3) Proteomix (4) Gene amplification

whﬁmmwmwwmm
aﬁﬂnﬁq%mwmﬂﬁm,aﬁﬁaamﬁsﬁﬁam
&, FwwEr ¥ -

(D <= B (2) “ieifEg
G) ifssifes | @ o v

68  Which among the following is a secondary bioresource 7

(1) Bamboo (2) Waste water from pulp industry
(3) Kitchen waste 4) Manure

Fraffas & & o o1 fudas  daganm 7

() =i () TR AT & suBre W

@) TR o 4 wr

69  Substrates on which cells grow during Animal tissue culture is -
() Polytetrafluroethylene (PTFE) or Teflon
(2) Potato Dextrose Agar (PDA)
(3) Murashige and skoog media (MS media)
(4) Nutrient Agar (NA)
mvﬁmﬁaﬁqﬁamm,ﬁwwaﬁf&mﬁqﬁgm%,%~
(1) e (@) s e
) WA T o ()
() TN T wm A (rew e)
@) AT oM (g
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70  Which set of statements is correct for a transgenic organism 7

(A) It carries a foreign DNA from same species.
(B) It carries a foreign DNA from different species.

(C) It carries DNA from the same species that has been manipulated

in vitro. |
(D) A foreign RNA is microinjected into them.
(1) (A), B), (D)
(2 ®), (C), (D)
3) @A), @), O
@) (A), ©), D)
wraafie il % wew # wmoad ¥ 7
(A) @ R Wiv &1 fRRlyw Sieag @ ¥
(B) & B Wy #1 fRyw Swag @ ¥
(C) @ §uN Wifd &1 vEy Badiiag e Seag g #
D) @ﬁ%mﬁ@qmﬁ@mmz At Ream s ¥
1) (A) (B), (D)
@ ®), ©), O
(3) (A), B), (O
@ (), ©), (D)

71  The value of the cormrelation coeﬂicient between two variables lies between

(1) -1 and +1 (2) 0 and +1

(3) 0 and + infinite (4) - infinite and + infinite
o 9w gy fode e g o @ ¥

(1) -1 Td +1 F A" (2) 0WH +1 & 7

(3) 0 TWd + o & AL (4) - o T + I & 9
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72 Which technique is used to detect polymorphisms in DNA 7

(1) RFLP
) PCR

(3) RAPD

(4) AFLP

e Tl o germ@ ¥ QT wgEud @ Ggle Rear o € o
(1)  SRTEQo.dL

@) e o

(3) ST

) wumgAd.

73 In Isotopic labeling, infrared spectroscopy detects :
(1} Difference in an isotope's mass
(2) Difference in the isotope's vibrational mode
(3) Atoms with different gyromagnetic ratios
(4) Radioactive .decay
Wt ster ¥, o At g w ¥
(1) wvente & ey § ofax
(2) wmATEw B Hatwe e ¥ s

(3) fafm qeigraeia srgodl e wRem

@) Woafeg =
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74

73

Consider the following statements :

(A) Patch clamp technique is used for intracellylar recording.

(B) MRI is the recording of electrical activity along the scalp.
(C) PET is a nuclear medicine functional imaging techinique.

Choose the correct answer using the codes given below.

(1) (A) and B)

(2) (B) and (C)

-(3). (A) and (C)

4 (A), (B) and (C)

frfefen s ww ReEr @k -

(A) o TEie SamRE sfwed ¥g wge sl B
(B) MRl W & WIMKIK JU9 Whpadl &1 AtveEs e 8
() PET e ol verie REer @ wwde

e Ry g g @ wemar ¥ §E S @ wEd BN

1) A @ ®B)
2 ®) w (O
3 W ©
@) (A), B) == (C)

Lincoln - Petersen method is used to analyse :
(1) Animal population size

(2) Plant population size

(3) Habitat characters

(4) ‘Behavioral patterns
frim—dexwy fafa wgsq o ¥ ¢

(1) g wfe & s R g
() uEw i & s fasEew &g
() o W % R 3G

(@) wrEEfie yiaen % faswer ¥g
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